EARAROBEEIERT — 2 N— IBISH —F

20195F6A7H (£) 4mAFH5H

3R WE YA A ‘ [z ‘ [eErsm]  — | & (&) 14000 B
[A&4£] 17 :2,900,000 @ 23 :1,160,000 @ 3 & :725,000 § 4 7% :435,000 @ . 5 7 :290,000 M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
ey 30, o 9 — BREA ()
1177 NT =% 42 5»»2_10 1(3_0)6 2-2-2 | 38.9 3 (416) i g5
R:Zg—Yrin—-x Bt a—T7U—F #ro—tr
: 5 EHEC :31. ~5- . — JEF L (/)\HE)
N B ARG e | ew fwsl - || s | ETEE O
L:A—Y XA 24 B:HT/AFX~< RS
o 4t 2 | HEAH :31.9 1-1-1 40.4| — 2 491 | RIIR (KH)
3|5|5| AT VINTYR 54.0 (") Oy | @) wanis
RNEI T I—Ib B:TTANARHYR RN
N IRHAH TS : -3 — AREE— (X#H)
41111 Z7ZVRDA27T 2 g (kiﬁf) AR ° ;‘ie) AOHEA
R:24¥>v ML B:T71UXKA—I Pl ]
o o . [EE-FN :35. ~4- . — BB (/1K)
5 6l /Ny E=—IXTHY o2 e 1(375)6 5-4-5 | 43.4 4 (455) ;7&%%/\
R:VZZAZ—IZ28— B:NyE—Fv—b #E IE
o o HEIBThE :36. —6- . — AR (KFHF)
6 3 T HO—X 2 it 1(346)5 4-6-6 43.4 6 (451) ALE
L:O—X¥x> 786 B:IA2 % F1h FERS
= LETHIEE : 7= - EHET (KH)
7 4 Ty —I o2 i 1(/?3_;5 7-7-7 42.2 7 (439) im%%g (
LNV v =l B:X¥LTFq—T>P1R Eld=tie]
@ 1 — S —EBIEf
13—7+—
A== 5,7,1,3,6,2,4
Jol=5r= 5,7,1,6,2,3,4
40—+ — 5,7,2,1,6,3,4
[ N3
BB 7 590M 714K 2-7 220M B = 2-7 740 3EHE 2-5-7 510
8 B 7 210M Galll 300M B H 7-2 1,790 K31 7-2-5 4,680
2 150/ 2-5 170

ABICOVWTRDTEEERROODE. TR LIV,




